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(1) (x—3)°

=x’+2X(=3)Xx+(—=3)°

:x2—6x—|-9 —8 1 -~
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(1) (x+1)°
=x’+2XxX1+172
=x*+2x+1

K x*+2x+1

(2) (x—2)°
=x’+2XxX(—=2)+(—2)*?
=x?—4x+4

X x*—4x+4

(3) (a+5)2

=3?’+2XaX5+5"*
=a?’+170a+25
X, a’+10a+25

(4) (m+9)*
=m’+2XmX9+ 9”7
=m?’+718m+81
X, m*+18m+81
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(6) (8 —x)"
=8"+2X8X(—x)+(—x)*
=64—16x+x*?

X 64—16x+x*

(7) (x+y)?
=x’+2XxXy+y’?
=x’4+2xy+y?
A, x’+2xy+y?

(8) (a—b)*
=a’+2XaX(—b)+(—b)?
=a’—2ab+b?

ZA. a’—2ab+b?
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(1) (x+1)(x—1)
:X2_72
:x2—7
K, x?—1

(2) (x—=7)(x+7)
:XZ_7Z
=x?—49
A, x*—49

(3) (y+6)(y—6)
:)/2—62
=y?—36
X, y?’—36

(4) (2+x)(2—1%)
:Zz_xz
:4—x2
K, 4—x?
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(6) (x—0.3)(x+0.3)
=x°’—0.3"
=x2—0.09

£ x*—0.09

(7) (a—Db)(a+b)
:aZ_bZ
A, a’—b?

(8) (x—5)(5+x)
=(x—5)(x+5)
ZXZ_SZ
=x?—25



